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: for the questtons -

1. Ainswer the follomng/ Choose th(k{rect
answer : o NIx8=8

.

(@) The total area under the demand
curve of a good measures

- (i) marginal utility
(i) total utility
" (ii)) consumer’s surplus
(iv) producer’s surplus
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(f) The. opportunity- cost- of a factor - of

(b) When the egatlve income effect is
-iproduction is

greater than ‘the subshtutlon effect, it
is a case of which:ong: "of the following?
i) Glffen goods

MbAy e
i) Infenor goods o

' - (i) the earning in its present use

t (ii) what it can earn in the fohg run
“ 10} /' 2 vy

(i) Luxury goo<'is
(iii) what it 'can 'earn in the best

(IU) Normaflf "'g'OOd ’
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altematl_ V.e“‘“. 5, .
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(¢) Writ - '
rite one hmJtatlon of ordmal utility (iv) None of the above

theory GE
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(d) Deﬁne ) A o i . ey GBT wis T
‘PE%’S ﬁtml‘} functlon k (9) Dummshmg marglnal retui‘nsl tok a
G factor arise essentially because
(e) n ert tHT \“b TR O . e e T et R
! which one of the fouo:vmto SCale (i) quantity of some other factor is
bt 1 o vmmatume -of . the: 19ng-n;g qufa is the : - relatively ‘fixed -
-1 curve? 18¢,.cost
e Paralle] A% Ommlt axis C w00 ifii)> quantity: of ‘that factor is fixed -
(i) Upidty: Hidg o s, ..”" i o
(i) Do c‘.Jnr:;J Pt - ‘ ,‘ it} quantities of all factors are fixed
Whward SIOPin RURTES %S RO f : . .
i . "'f:-fvfl'f“(_:.‘ » . . ' .
(iv) Ider‘%?&}w o, ﬁ;?r;.t-.u Gh ] | (iv) there s government control on
cost curye M e yfverage - | Yoot fproduction s - gt
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(4) (5 )
' (1) :In.the two-inputs case, if the product | Answer the followmg questlons (withm 500 words
isoquants - \
areq .are L-shaped, the inputs each) | \. .
i) perfect subs'titlites for each dther ‘;.F . @ DlSCU.SS the meamng and unportance

of mlcroeconomm»models Explain its

. (i) perfect
‘ ither °0mp1ementary to each limitations. 8+4=12

(i) independent of each other Or

(i) Not predictable =~ " (b) Explam 5 the concepts of 1ncome

nten 3
elast1c1ty of demand’ and cross
elasticity of demand’ Descnbe their

2. Write short note uses in economic analysis. 6+6=12

;00w in 150 | Sy do ekl CLTeT e L3
o T WOTds each) 1 4x4=16
" S, el | .4 (@ What is meant by cardmal utlhty? By
Mlcro-comparative Astalt‘l;;a;lal-..t ,.' we b uéi:ig' the cardmal approach derive
BUSEIGY aady, 5 ysis ' the consumer’s demand curve State
- (b)  Properties of mdﬁfe#ﬁé%&! ‘ ' the limitations of cardinal " ‘utility
T Urve
approach. : 2+6+3=11
(c): . Maca : A o
mesconsum ]
Ption;¢ o ) |
| consumption curve urve: and Price | O
L9:80) qp 0 : N R T S
J‘l 373' TR T ':‘,. 5 i e > . PR .
(d) Rldge lines DIt j (b) Explain Whyan indifference ‘curve
it f‘.'l.frla)) RERTER o fOl’ 'two{{normal!’}goods“is:‘conVCX to
(¢) Economieg an(;ld; Py N ‘A'f"l!"'f?he:"orlg'm.“ Show.with the 'help of
secanmles of scale i1t indifference curve how. a consumer
PI6LTT.,., | attains equilibrium. 5+6=11
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te) (7)

5. .(a) ~Show . how: S '
- an individual demand .4/ 7. (@) “A long-run average cost curve is an

curve can be i .
indifference . derived with the help of - envelope of the short-run average cost
“be the shape u;v‘: approach. What will ; curves.” lllustrate the statement. 11
. 01 demand curve 1
" of ‘inferior and Qi €in case |
d Giffen goods? - g42=11 Or
Or (bj Tlustrate the short-run and long-run

“f average and marginal cost curves, and

(b) | _De°°mP0§e the price ; explain their relationship.

ihcome o o effe i
, fncome and substitution ¢t into

effects for

: 'normal ir g . ‘ v
;o Tornal and Gﬂeg goods;  ees=11 ‘ * % K
6. (a). Explaj \
Wlxtl.:lam the equilibrium of a )
et the,.,‘help of producer

. iso-cost . ..o isoquan
Lo ;S_t,,,llnels, H do r.id.gt‘ liand':.
~o. 214ge lnes
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v ;J T 4+7=11




